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QUESTION 1

Your customer wants to migrate from an on-premises backup and recovery architecture to a public cloud target solution.
Which two factors should be considered when designing this solution? (Choose two.) 

A. recovery point objective 

B. recovery time objective 

C. media format 

D. mean time to repair 

Correct Answer: BC 

 

QUESTION 2

You are designing a multicloud architecture using Microsoft Azure and Amazon Web Services (AWS) The objective is to
deploy NetApp Cloud Volumes ONTAP in both clouds and use SnapMlrror for replication. You already deployed NetApp
Cloud Manager and an associated Connector in Microsoft Azure. To connect your Cloud Manager to AWS, you are
instructed to establish a site-to-site VPN between Microsoft Azure and AWS. 

In this scenario, which two components are required to provision the AWS endpoint for the VPN connection? (Choose
two.) 

A. firewall rules to unblock UDP port 4500 

B. AWS Direct Connect 

C. a virtual private gateway in AWS 

D. a VPN connection in AWS 

Correct Answer: BC 

 

QUESTION 3

You are planning a migration of a single 500 TB workload into NetApp Cloud Volumes ONTAP starting with 10 TB and
gradually increasing the amount hosted in the cloud. You believe that 80% of the data is cold and will be tiered using
data tiering. The most important factor is to minimize the number of licenses as your footprint grows. 

Which two licensing options would minimize the cost of the licenses in this scenario? (Choose two.) 

A. Purchase a PAYGO license from the cloud marketplace for the initial footprint, and then use in-place conversion to a
BYOL license. 

B. Purchase a PAYGO license from the cloud marketplace for the initial footprint, and allow it to grow as your Cloud
Volumes ONTAP instance grows. 

C. Purchase a BYOL license for the initial footprint, and then stack additional BYOL licenses when you reach capacity
on the initial license. 
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D. Purchase a single BYOL Cloud Volumes ONTAP license for the Initial footprint, and then deploy a new Cloud
Volumes ONTAP instance for each additional migration. 

Correct Answer: BC 

 

 

QUESTION 4

A customer has an on-premises data center with NetApp ONTAP storage. They have a Snapshot policy set up for their
volumes to create periodic Snapshot copies so that they can recover from those in case they lose their data. However,
their IT architect wants to implement a solution that will enable them to restore volumes or individual files to their storage
on-premises or in the cloud. 

In this scenario, which NetApp cloud service should be used to satisfy the requirement? 

A. Cloud Backup service 

B. Cloud Sync service 

C. SaaS Backup 

D. Cloud Volumes Service 

Correct Answer: B 

 

QUESTION 5

You are asked to deploy NetApp Cloud Volumes ONTAP In a Google Cloud environment. You set up a NetApp Cloud
Central account. You want the storage administrator to be able to log in to the NetApp Cloud Central account and
deploy a connector from the SaaS Cloud Manager before deploying NetApp Cloud Volumes ONTAP. 

In this scenario, what are two requirements to accomplish this task? (Choose two.) 

A. The storage administrator must be set up as an administrator in Google Cloud. 

B. The storage administrator must be set up as a workspace admin in NetApp Cloud Central. 

C. The GCP user who deploys the connector from NetApp Cloud Central should be associated with a custom role. 

D. The required APIs must be enabled in the Google Cloud project. 

Correct Answer: BC 

 

QUESTION 6

Your customer needs assistance developing a cloud storage solution that allows access from both NFSv3 and SMBv3
clients. You recommend Azure NetApp Files. In this scenario, which two satisfy the requirements? (Choose two.) 

A. Azure Active Directory Domain Services (AADDS) I 
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B. Azure Active Directory (AAD) 

C. Active Directory Domain Services (ADDS) 

D. DNS servers that are reachable from the Azure NetApp files delegated subnet 

Correct Answer: BC 

 

QUESTION 7

You want to deploy a NetApp Cloud Volumes ONTAP HA pair on Google Cloud. 

In this scenario, what is the minimum supported network configuration for Virtual Private Clouds (VPCs)? 

A. four dedicated VPCs 

B. one shared VPC and three dedicated VPCs 

C. four shared VPCs 

D. one dedicated VPC and three shared VPCs 

Correct Answer: B 

 

QUESTION 8

You are designing a cloud storage solution for a customer in Microsoft Azure with strict security requirements. They
want to use Azure NetApp Files and they require "krb5p" for all NFS traffic. The workload is highly concurrent and
mostly sequential. 

In this scenario, how will throughput be affected? 

A. Throughput will be significantly decrease 

B. Throughput will be slightly increased. 

C. Throughput will not be affected. 

D. Throughput will be slightly decreased. 

Correct Answer: C 

 

QUESTION 9

You are using Windows Virtual Desktops and storing user profiles on Azure NetApp Files by using the Premium storage
service level. There will be 1000 contractors coming onboard for a short duration to assist with project work, and each
one of them requires virtual desktop access. 

In this scenario, which three actions address the short term performance demand without affecting the latency of
existing users? (Choose three.) 
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A. Use FlexCache. 

B. Increase the volume quota on Azure NetApp Files. 

C. Change the Azure NetApp Files service level to Ultra Storage. 

D. Increase the capacity pool on Azure NetApp Files. 

E. Enable encryption on Azure NetApp Files. 

Correct Answer: BCD 

 

QUESTION 10

You are designing a new hybrid cloud solution. The nonfunctional requirements state that you must be able to integrate
identity management for SSO authentication. 

In this scenario, what are two supported identity management providers? (Choose two.) 

A. OAuth 

B. SAML 

C. YAML 

D. Azure Active Directory 

Correct Answer: AB 
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